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1. Acting Judges are appointed in
(a) Supreme Court

(b) District Court

(c) High Court

(d) Both (a) and (b)

. Which of the following is NOT correctly matched
as per Constitution of India ?

(a) The Panchayats -  Part-IX

(b) The Municipalities — Part—IX A

(c) The Cooperative -  Part-IXB
Societies )

(d) Tribunals ~  Part-X

Which of the following is NOT correctly matched ?

Fundamental Article
Right
(a) Abolition of - Art. 17
Untouchability
(b) Protection against
arrest and detention —  Art. 23
(c) Freedom of Religion —  Art. 25
(d) Protection of —  Art. 29
Interest of Minorities

. The difference of the Government Minimum
Support Price (MSP) and market price, which
inpmd directly to the farmers under W.T.O. is

'(a) Blue box subsidies
(b) Green box subsidies
(¢) Yellow box subsidies
'(d) Pink box subsidies

. Inrecently announced central budget 2020-21,
m which among the following budgetnﬂocltlon
has been decreased in comparison to budget
2019-20 7

(a) MGNREGA

(b) Ayushman

(c) Mid-day Mea! Scheme

(d) National Ganga Cleaning Scheme
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6. Consider the followin
uses to control 'Lnflatic: ?:18::: ;:::;;,R.B.L > e ::“ﬁ o a'i ﬁ% et
1. Tncrease Bank Rate mﬂmw%mmﬁ
2. Increase Cash Reserve Ratig Tﬂ;i Igz % gfg ©

3. Increase staturory liquidity Ratio
4. Purchase of Bovernment gecurities
Select the correct answer from the codes given

2. 72 wmfEE wqwm | gfy
3. wifeenfys serm wqum § 3fe

below. - ~ hiGh

oo #19 fou 13 e § A 7@ 3 = =7 A |
(a) Only 1 and 2 T

(b) Only 1. 2and 3 (@ Somalksls £

( 0]- 2- (b) %ae 1, 2 3t 3

¢) Only 2. 3 and 4 (c) Faer 2, 3 3 4

(d) Only 1. 3 and 4

7. Which is the first month of Indian National
Calendar ?

Wl.aaﬂu

7. VAR U R = wem ofeen S-wn d 7

(a) BT
(a) Phalgun e
(b) Magh (b) =T
(c) Paush (c)

(d) Chaitra

8. “Navarathri” is celebrated as Saraswathi Pooja
in the following state

(a) Kerala
(¢) Tamil Nadu

9. With reference to the Indian Culture Portal, which
of the following statements is/are correct ?

(b} Karnataka
(d) Telangana

I. It has been developed by a team from

NCas
8. T ) Fh oo & v e g s
6

Eici
(a) WA d (b} FAtew o
(c) afreg d (d) S
9. Wiy Tl IRa & wa O, Prfafsa £
F-m/A @ ¢

I 38 amg. . . s=h f I F go P

I. 1. T. Roorkee. foan T 2

1. It is the Goverament's first authorized I1, 98 TN 1 9gel Cflﬁliﬁ Wée 2, wEt
portal where knowledge and cultural H”Ffﬁl e ¥ RS @ ¥ Te w
resources of various organisation of . . "
ministry of culture are available in public HIEHHTS G B A s o
domain on a gingle platform. TR § I9EEY FgT T 1 X

Select the correct answer from the codes ﬁﬁﬁ'ﬁ‘ﬁiﬁﬂmmﬂwﬁﬁq i

given below. o

(f;’g; g (a) Faet

@ Only It (b) F 11

@) Both Tand I & T

(d) None of the:above (d) I B § wY lt ’
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11.

13.

14

15.

16.

17,

In _the vertical structure of the atmosphere,
which one is the lowes layer ?

(a) Stratosphere (b) Mesnsphere

{¢) Troposphere (d) Thermosphere

Which one of the following acids is used in the
car-batterios ?

{a) Acetic Avid

(b) Hydrochloric Aaid
{c) Sulphurce Acid
(d) Nitric Acid

Potato chips are packed in plastic bags in the
atmasphere of

(a} Nitrogen Atmosphere
{b) Hydrogen Atmosphere
() Oxygen Atmosphere
(d) Todine Atmosphere

Which one of the following process is NOT
useful for purification of solid impurities ?

{a) Dhstillation (b} Suhlimation

{€) Crystallization  (d) All of the above

Which one of the following colours of white light
is least deviated by the glass prism ?

{h) Red colour

(d) Orange colour

{a) Green colour
{c) Violet colour

Asafoetida is obtained from
{2} Exudation from the stem
(b) Extraction from roots

(¢) Extraction from fruits
{(d) Extraction from leaves

Three chambered heart is found in
(a) Mammala {b) Birds
{c) Amphibians (d) Pisces

Whowas the Commander in Chief of the Rajput
Army, besidea Maharana Pratap in the Battle
of Haldighati ?

() Ibrahim Gardi (b} Hakim Sur

(¢) Tardi Beg (d) Mahmood Ladi

|1 frfeiaa o 3 3 Rem 7t 6 ITAT -~ aeft
3 fa ST B 7

{a) s |
BRSNS A .

(¢) HeRINE F=A

(d) AERH I o

12, 3 3 fae e % O O wgRe R I §
g e
(b) TR T A
(¢) HHTerEta aravaRo #
(d) R FTaTE §

@) 3w wwfedi % o & fre Freferiea 1 4
FH-H iR I @ R 7

PR A TeurE
(¢) fereeelimm (d) Iy asf

14. wog o A 9fem Pefafye of § @ -
o % Brw g wed o fafem a2 7

(a) &0 T (b} & W@ V
O%ucikyl (d) Traft o

15. &M sra 6 9t @ G
o) T3 W @ s
OESERC-L LR
(¢) B & Freamdr §

(d) 7Rt & fremdy }

18, Tywredi gea ovg smen
(a) wEiR & {b) oftrat 3
(o) =l ¥~ (d) wefer §

17. &= & 3 % wewon vam 3 T &
Wﬂﬂ]‘lﬁgtﬂ ? mmgtﬂm
{a) wondm nief o (b) T gy
@ ol () ARz W

]
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18,

19.

21.

247

With reference to “the
British and falure of th
of the following statem

causes of the success of

¢ French in India” which

ent isfare correct ?

1. Getting huge wealth and manpower from
conquest of Bengal by Brirish.

2. Naval sy periarity of the British,

Select the correet answ

below.

Codes :
(a) Only 1 {b) Only 2
{¢) Both 1 and 2 {d) Neither 1 nor 2

er from the codes given

Which one of the following is NOT correctly
matched ?

Acts Year

(a) Prevention of Sedition = 1908
Meetings Act

(b} Explosive Substances Act - 1908

() Indian Criminal Law - 1808

Amendment. Act
{d) Newspaper (Incentive to
Offence) Act. - 1908

Maich the List — 1 with List — II and select the
correct answer from the codes given below -

List - 1 List - 11
A. Rampa Rebellion 1. 1859-60
B. Pabna Peasant 2. 1879-80

Revolt

C. Bengal Indigo Revolt 3. 1860-63
D. Jaintia Rebellion 4, 1873-76
Codes ;

A B C D
(a) 2 1 3 4
M 2 4 1 3
) 1} 2 3 4
@ 4 2 1 3

Which Ruler of Delhi Sultanate declared himself
as “Khalifa” 7

() Balban

{b) Adsuddin Khilji

(&) Mubtiarak Khilji

@) Muhammad bin Tuglag

la sk nlh & Wal
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18, “wwa § 351 ) Fwe 3u HiRE B s &
FTOT" % e # T o B & w2
1. 3t @ @md B9y @ woR W e
e =1 fierm | 0]
2. U 6 FEW ARE TR |
49 fev 7 g 4 @ 7 s = w3 Fifvg
[ AN
(a) ¥ ) ¥ma2 ©
SO & L 2 CHEKIBRCER

freffien 4 & $-o o gfm g 2 o

sfifrm =d
(a) TR Bl &t e W - 1908
wfufym
(b) Faowie® gerd afufian - 1908
(c) WRdR SiErlt FE g
e - 1908
wﬁmﬁm(m@%%qm)— 1908
sifufram
20. gE- I B g 11 % gy gife Fifv s 0=
for ™ = ¥ 7 I W v B
g -1 g - 11
A gk 1. 1859 — 60
B. w1 faram e 2. 1879 — 80
C. ¥ Hie e 3. 1860 — 63
D. swfrr fge ”//?4. 1878 — 76
F2:
A B C D
@@ 2 1 3 4
ST 2 4 1 3
@ 1 2 3 4
d 4 2 1 3.

21. e wewmm & frw e 3 3 s ) “aeher”
oif¥a == R o 7 o

(a) W

(b) ST gl
(c) HuTee figeshi
(d) 7o, fe e

O
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Which one of the following was NOT associated | g9 frafafed § 3 e e, e B ( g

with Indian National Army (LN.A)? w fﬂj ;Fﬁ i
(a) Rashid Ali (b) Shahnawaz (a) €. =
6. ¥. (@ #. .
{c) P.K. Sahgal (d) B.C. Dutta (c) W -
by 1942 ¥ Wi Br) ander % a # PR
23. Which of the following statement is NOT true | 23. "1942
about the “Quit India Movement of 1942”7 FER-mF ga TR ?
(a) It was led by Mahatma Gandhi (2) ! Ig WETH! e grar e T o
(b) Congress was declared an illegal body (b) FIUE H T s qen
(c) It wae a non-violent movement \/('ﬁ 77 G Afgws e o
(d) Tt was a spontaneous movement (d) I8 TR mzp{é AT ol
24. By which of the following Acts was the India | 24. FrerfRafee sxferfrer A & frereh gr v i (30
Council abolished ? Hifte) = aura e T ?
(a) Morley Minto Reform 1909 (a) WA fe) HUR 1909
(b) The Government of India Act 1919 (b) wRA "R AfufEm 1919
() The Government of India Act 1935 ’(F) WK R AfbFam 1935
(d) The Indian Independence Act 1947 (d) T AT wfufiam 1947
25. Censider the following events and arrange | 25. Frefafem gt w few HifT wen 2%
these in chronological order. FITERTER Safea R |
ii. Eripps p:;posal LR
i e Il 3Ra W {qyp
1. Wavell plan 1. %
IV. C. R. Formula : o o tqv?
Select the correct answer from the codes IV. 9. 3m,
given below, ﬁﬁqﬁwﬁuﬂmwwﬁm:
Codes : 2
@) IL L 1L IV (a) I, 1, I11, 1V
(b) II, LIV, 11 AB) 1T, L1V, 111
)LV, M © LIL IV, 111

(d) LIL 111, IV ) LIL 1, v

26, Which of the following is NOT correctly matched ? 26. ﬁqﬁiﬁﬁﬁﬁﬂq-mﬂﬂgﬁﬁaqﬂg?

Organisation Person

(@) EE:’HE Bengal - lbI:nry Vivian , WIFI =afn

vement. rozeo (8) T T e

(b) Bahighkrit ~ Jyotiba Phule 28 e 20
Hitkarini Sabha &) W oot g e

(e) S'Tz’eomhical ~ Colonel Oleptt T

@ United Iodion - Syod Alumag ) Retiifers Sl - ot ez
P, o SERAG e s o

¢
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27.

29.

Which one of the following is NOT correctly
matched ? .
Crop Weed
(a) Wheat - Phalaris minor
(b) Paddy - Bathua
(c) Pen Pivazi
(d) Berseem - Kasni
Match List - T with List - I1 and sclect the correct
answer frum the codes given below -
List - 1 List- 11
{Crop) (Season)
A, Sunflower 1. Kharif (rainy)
B. Muskmelon 2. Zrid {(summer)
C. Cotton 4. Rabi (wintey)
D. Linseed 4. All the season
Codes :
A B C D
(a} 3 4 1 2
b 4 2 1 3
© 3 4 z 1
dy 2 3 4 1
According to Fortune India List of 500 companies,
the biggest corperation/company in 2019 was
(a) Indian Oil Corporation Ltd.
by ON.G.C.
(©) Reliance Industries Ltd.
(d) S.B.I.
According to American based think tank

population Review Report 2020, which of the
following statements is/are correct ?
1. India’s GDP in 2019 was ¥ 209 lakh crore.
2. India emerged as filth largest economy of
the world.
3. India over take countriea like Brituin and

France

Select the correct anawer using codes given
below :
JONes: |
(&) Land 2only. M) 1 and 3 only
(@) 2and 3 only (dy 1,2 and Bcorrect

27.

28
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D, e 4. ® dag
LA
A B € D
@y 3 4 1 2
a2 13
© 3 4 2 1
@ 2 3 4 1
29, wrE soeE € 500 FEE B oER F sgER A
2019 ¥ wag o Fomy/ward o
(a) 30%EA A RO fa.
(by . AL
JSor Fromig Feeda fo,
(d) v Fd.

90, e amaie R 3 seen wian fE 2020 ¥

e R fa s-wAwA @t D
Loaa A AW 2019 W 2200 e S A
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3a.

Given below are two statements, one labefled as
the Assertion (A) and ather as Reason (R) :

Assertion (A) : Lucknow'’s Defence Expo 2020

was the Asia's biggest Expo of defence products.

Reason (R): The Expo wasorganised to portrait

India as emerging defence manufacturing hub.

Sclect the correct answer from the codes given

below :

Codes :

{a) Both (A) and (R) true and (R) is the
correct explanation of (A)

(b} Both (A) and (R} are true and (R) 1s not
the correct explanation of (A)

(c) {A) is true but (R) i= false

id) (A) is fnlse but (R) is Lrue

Following are the estimated source of revenue of
the Union Budget 2020-21. Match List - 1 with
List - I} and select the correct answer from the

codes given below.

List- I List - 1
(Source) (Percentage of
Revenue)
A. Corporate tax 1. 17 percent
B. Income tax 2. 18 percent
C. Customs 3. 7 percent
D. Central Excise 4. 4 percent
Codes :
A B C D
{a) 1 Z 3 4
e 3 2 1
©3 4 1 2
2 1 4 3
(n) Agriculture (b) Fishing
(c) Hunting () Mining
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s 7 R
(©) (A) T & 6 (R) e R
() (A) e & FF (R) 74 8

a2 frofrian ¥ awe 2020-21 % AR 34 &
A 2 |I[d’t—liﬁtfﬂ—llaimgﬁﬁ?ﬁﬁﬁ({
Tt 1 feg v 2 A FA IW F T A

T - | wh -1

(&) (aferama )
A Frm 1. 17 whrea
B. 3% & 2. 18wl
C. € ek 3. 7 wfewE
D. ¥ IR OFF 4. 4 ¥iowA
W '
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34.

35.

36.

a7

38.

A

Which of the following rivers of India crosses the
tropic of cancer twice ?

(a) Mahi

{c) Narmada

{b) Chambal
(d) None of the above

Which of the following census years is known as
the “Great Divide” in the demographic history of
India ?

(a} 1901
{cy 1931

(b) 1921
(dy 1941

“Tulbul” project is on which river ?
(a) Satly} (b) Jhelum
(c) Ravi (d) Beas

Consider the following statements and select the
correct answer from the codes given below.
1. Rihand Dam is on a tributary of the Sone
river.
2. Hirakund Dam 15 on Mahanadi river.
. Tungabhadra project is a joint venture of
Andhra Pradesh and Karnataka.
4. Maithan Dam is on Barakar river, a
tributary of Damedar river.
Codes :
(a) 1, 2 and 3 are correct
(b) 1, 2 and 4 are correct
(cy 1, 3 and 4 are correct
(d) 1. 2, 3 and 4 are correct

National Green Tribunal (NGT) was established by

the Government of India in
(a} 2007 (b) 2008
(c) 2009 (d) 2010

Which one of the following is NOT correctly
matched ?

Country Iron-ore
producing
area

(a) Ksazakhstan - Karaganda
() Ukrain - Krivoy Rag
(¢} Germany —  Normandy
{d) France . —  Pyreneas
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I T R 7

oLl
() F

a5, Frsferiga S w6t i R i & e shE
¥ mgm R & w9 8 I @ R 7

%21

(b) wHaet

(d) 3vgEa 1 & Hi§ A€

(@) 1901
(c) 1931 (d) 1941
36, gere” gfdien fee A R 7
e T (b) e
(c) Tret (d) =T
g7, fraffgn Fwat @ fan ffye oo R fw
F2 A wh I H T FIN |

1. fgz &fy @9 98 $ T TEEF T TR |

2, #RTS Wiy oEEE W R |

3. gz aRE WRYSE TE FATCE H G
IR R |

4. Do wfy gty 76 it T TREE T2 TE
WA

e
(@ 1, 23N 3wd 2
M) 1. 234w ?

Mam4aﬁ%

() 1,2 a3t 4udh 8

38, MTH WHR g1 Ui R i (|mARd) |

T g ot
(a) 2007 8 {b) 2008 #
(¢) 2009 # 2010 ®

39. Frafafes 3 A 9 o8 g iR 2

| g - 3T I
f=m O
{n) HATGEA - WGV
(b) T - B ™
(c) Sy = e
(d) W1 - Rt
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ﬂ

40, Which ane of the following is correctly
(a) Lorren Industrial Reglon -

matched ?
ltaly

() Rubr Industrial Region - Germany

(c) Bristal Industrial Region — Fra’-nce

(d) Saxony Industrial Region — United
Kingdom

41. Which among the following countries NOT
located on the western coast of Africa ?
(a) Gabon (b) Botswana
(¢) Liberia (d) Angola

42. Forest Research Institute is Jocated in
{a) Dehradun (b} Bhopal
{e) New Delhi (d) Nagpur

43, The “Oceanic National Park” of India is
located in

{a) Sunderban
{c) Nicobar Islands

{b) Chilka Lake
(dy Kutch

44. India’s first semi high speed train “Vande
Bharat” runs between

(a) Varanasi to New Delhi
(b} New Dethi to Jammu
{¢) New Delhi to Mumbai
(d) New Delhi to Lucknow

456. In which of the following cities of India, the
first synthetic rubber plant of the country was
set up 7
(a) Panipat
{¢c) Chandigarh

(b} Sonipat
(d) Lucknow

46. Which is the biggest refinery in India ?

{a) Jam Nagar (b} Paradweep
{c) Dighoi (d) Tatipaka
47. Which of the following State has longest coast
line of India ?
(a) Andhra Pradesh (h) Gujarat
(¢} Tamil Nadu {d) Kerala

48. Which of the following systems of rocks provides

maximum amount of coal in India 7
(a) Dharwad System (b) Gondwana System
{¢) Vindhyan System (d} Tertiary System
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e & 4 fareh & e
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49. With reference to the

51.

b2.

{¢) Pune

U.S. President’s visit
to India in Feb. 2020, which, of the following
statements is/are correct ?

1. U.S. first lady Melg

visited a YOBa session and interacted with
students in a Delh;j School.

2. The School visited by
co-educational senjor
Moti Bagh, Delhj.

Select the correct answer

given below,

Codes:
(a) Oniy 1
{c) Both 1 and 2

ma Trump

Melanin Trump s
secondary school in

using the codes

(b) Only 2
(d) Neither 1 nor 2

Regarding Ram Mandir Trust formed in Feb.
2020, match the List — | with List - 1] and
select the correct answer from the codes given
below,
List -1 List - II
(Name) (Position)
A. Mahant Nritya 1. Head of the
Gopal Das Temple
Construction
Committee
B. Swami Govind 2. General
Deve Giri Secretary of Trust
C. Shri Champat 3. Treasurer of
Rai the Trust
D. Shri Nripendra 4. President of
Mishra Ram Mandir Trust
Codes :
A B C D
(a) 1 2 3 4
b) 4 3 2 1
() 2 4 I 3
d 3 2 4 1
Which of the following was conferred “Oscar
Award 2020" for Best Film ?
(a) Avenger (h) Gully Boy
(c) Parasite (d) Joker

Where did the first “Khelo India University”

games take place ?
(a) Bhubaneswar (b) New Delhi

(d) Kolkata
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57,

Given below are two statements one labelled as
Assertion (A} and the other as Reason (R) :
Assertion (A) : President Donald Trump was
aquitied by the Senate in impeachment trial
against him in February 2020.

Reason (R) : Demacrats have majority over
Republicans in the Senate.

Select the correct answer from the codes given
below.

Codes :

() Both {A) and (R) are true and (R} is the
correct explanation of {A)

{b) Both (A) and (R} are true and (R) is not
the correct explanation of (A)

{¢) {A) is true but (R) is false
{d) {A) is false but (R) is true

How many teams participated in 1CC Women's
T-20 World Cup that was held during
February - March 2020 in Australia ?

(a) 08 Mt 10

(c) 12 (d} 14

“International Gandhi Award 20207 for the
efforts against leproey in the individual
category has been awarded to

{a) Yohei Sasakawa

(b} N. 8, Dharmashakatu
{(c) Satya Nadella

{d) Damodar Ganesh Bapat

Choose the correct option from the following :
B83:9::7:14

(a) 68 (b) 42

{c) 96 {d) 56

Choose the correct pair in which the words
bear the same relationship to each other as
the words given below pair

Dinpsaur : Dragon :: ?

{a)} Evolution : Revelation

(b) Gorilla : Saldier

(c} Snow : lce

(d) Ancient : Medieval
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20 26 ¢ /|3~ 208 26 26
15 T (L\ [ s 4 v O
40 3X [ 2 30 38
g 13 9 ? 13
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(L) 12 \? (a) 18 (hy 12 \ ?))
{d) 14 (o) 10 {dy 14 /E;
60, Mohit went 15 km to the West from hid g0, difen s s @ afrm H iR 15 Rl e, fe
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90 k. then he turned East and walked X ) H)_ i !lé ;
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from other three ?
(a) 94 (b) 67 (a) 01 & w e & W\ 9
() 85 @ 13 © 85 Rt
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8¢, I&whﬁhof’m&ﬂwmgdishiﬂliwmmwia 64, Prefufae wwe 3 & fredl awe a7
(#) Bulandshabr  (b) Shrawasti () RFIGTER e
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65.

(Al

67.

69.

Al

What is the percentage of canal irrigation of
the total irrigated ares in the state of Uttar
Pradesh ?

(a) 30 percent
{c} 28 percent

(b) 29 percent
(d) 27 percent

Match the List — I with List - IT and select the

correct answer from the codes given below.
List-1I List - 11
A. Brassware

B. Match Box

i. Meerut

i. Sabaranpur

h

C. Sports Goods iti, Moradabad

D. Wood Carving iv. Bareilly
Codes:
A B C D
(@ v @i B i
(b i iv 1 i
© i i v
(d} i il o i

The main folklores of Uttar Pradesh are
(a) Darun, Awadhi, Braj

(b) Karuna, Bhakti, Shaira

{c) Drupad, Braj, Karuna

{(d) Birha, Chaiti, Dhola

Which are the major folk dances of Uttar Pradesh ?
(a) Bihu, Ghoomar, Garba

(b) Charkula, Karma, Pandav

{c) Rau Nacha, Bhangra, Rouff

(d) Lavani, Kathak, Kathakali

‘Trade Pacilitation E}entm and Craft Museum is
established in the district of Uttar Pradesh
(a) Prayagraj ~ (b) Varanasi
(c) Ayodhys (d) Amethi
-14-
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(a) T, wafl, 7=

(b) F¥m, wisa, TRy

(c) §9€, WNI, NI

A R, &4, e

68. IR W ¥ W w6 I RN R 7

(a) fig, g, man

S T, F, wvEm
(¢) AT, |PTE], TG
(d) erraft, e, wuEeh

67.
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{¢) waren I 3


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

70.

71

72

The IFFCO urea plant is estublished in which

of the following place of 1P »
(a) Unchahar (b) Aonla
{¢) Jamshedpur (dY Jagdishpur

Which one amang the following 1s NOT
carrectly matched ?

Provision Part of the
Constitution

(a} Citizenship - Part - 1[I
(b} The Union

Territories - Part - ViI
(¢} The

Municipalities - Part - IX A
{d) Elections - Part - XV

Given below are two statements, one labelled

as Assertion (A) and the other as Reason (R) :

Assertion (A) : The executive powers of the

state are exercised to ensure the compliance of

thelaw of the Parliament and the laws applied

in the state.

Reason (R) : The government of India can give

necessary direction to the states by using its

executive powers,

Select the correct answer from the codes given

below.

Codes :

{a) Both A and R are true and R is the
correct explanation of A

(b} Both A and R are true and R is not the
correct explanation of A

e} Ads true but R is false

1) Ais falee but R is tinie

-18-
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73. Match the List - T with List — 1! and select the

A

correct answer from the codes given below.

List -1 List-1II
A. T Schedule 1. Languages
B. 8" Schedule 2. Disqualification
on the ground
of defection
C. 9t Schedule 3. Union, State

and Concurrent
lists

Validation of
certain Acts

D. 10*h Schedule 4.

Codes :
A
{a) 4
(h) 3
{c} 2
(dy 3

£ oo o —
e o= o

T4, Which among the following is NOT correctly

matched ?
Bodies

{a} Tnter-atate Council -

(b) Natwnal -
Development
Counecil

(¢) Central Vigilance
Commission

{d) National Human -
Rights Commission

Establishment
1990
1954

1964

1993

75. Given below are two statements, one labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) : When the payments made
by a country exceeds its receipts from trade
of goodas, services, transfer and net income is
called Current Account Deficit (CAD).
Reason (R) : Current Account Deficit (CAD)
occurs when a country exports more goods,
services and capital.

Choose the correct answer from the codes given
below.
Codes ;
(a) Both A and R are true and R is the
correct explanation of A
(b) Both A and R aretrue and R is not the
correct explanation of A
{c) A is true but R s false
(d) A is false but R is true
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7% Which of the [ollowin
" bond is NOT true ?

(a} Green Bond invest
climate friendly pr

B Statement about green

6. B wiE & gory ¥ P § Q@ - swz g

meny ¢ only for :l’ﬂ 27

ojecte () B wvg Fadm et sy Ry ot
(b) Green bonds were fjpg, ntroduced by 4 g d
European Investment Fypng 2007 (by et wwst ) mEwem 2007 3 e fraw
ic) ?mn ljond.a are Finanga) Marker w3 wft fra e o
nnovation
{e) ®HA =102 foreft arsm amam
{d) Green Bonds are f{iye i

d nterest loan ig

short date maturities () wfra m& ?msr%tm F e

-3
-1

~ Match t.he !'ollov-'ing Defence Expo and their | 77. foum T AR IHE T W &
venues in different veaps

Tt Fifan |
Years Nenue i —
A. 2016 I. Chenna .
7 B A, 2018 R ]
B 2018 I1. South Goa
C. 2019 1, Pl B. 2018 1. <ftor i
D. 2020 V. Hyderabad - /[]I‘ B3
. 2020 . Iv. et
Select the correct answer from the codes given St e W g # @ w0 39w 9= g |
below.
Codes : &
A B C D A B C D
{a) 1 I mw m {a) 1 I Iv Im
by 11 1 IV 111 {b) 11 | vV 11

@IV I I q Y1V I i1
W IV I \)zh'u v 111

78. Given below are two statements, one labelled | 78. 2 & F2m fem 7 §, fami & i (A)am

a8 Assertion (A) and the other as Reason (R) - | F1 &AW (R) Faffea fen ma 2
Assertion (A) : For education and culture a sfiimus (Ay: B w Eq;fﬂ & %‘l{ I
Centre for Cultura) Resources and Training wava @ sfen F (. am ) N s

(CCRT_! was set up in 1979, T8 1979 % £ 74t o |
Reason (R) : The objective of CCRT was to

FHU(R) : @A W va fen = degh
link education with culture. & S | D
gll;owthe correct answer from the codes given 2 R m R LT p— $ife |
W
elow. 5=

Codes - | () 21 A 7T R wg & 7w R, A 6wl s
{a) Both A and R are true and R is the ol

correct explanation of A
(t) Both A and R are true and R is not the (h)':?«‘\m;lim%mﬁ,aﬂaﬂm

correct explanation of A wa
(&) Ads true but R is false -~ AT R sl
{8 Aia fulse but R is true (d) A 3 § g R wea

i- -11-
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79, “Wangia Festival"is celebrated in the following | 79, = gewa” fn e of T o @
state
et b) Rurd 3§

(a} Mizoram (b} Meghalaya O (8) & &
(¢) Manipur (d) Tripura (c) “ﬁfg{ g @ ﬁlgrrﬁ

80. An ultimate source of energy stored in fossil | 80, Sharwfi-du=t o ooy ol @ =8 wla 2
fuels ia
(a) Earth (®) Sun @ Pl
(c) Sea (d} Moon (c) B (d) S=

81. Driving force of an ecosystem ig 81. wftfeufas @ & Wk ot Qe &
{a) Carbohydrate (b) Biomass (a) FETEEEL (o) R
(c) Carbon {(d) Solar energy (c) FTe= L)FH i F

B2. Which one of the following is essential in | 82 fr=fafm # 4 ¥h-w & g * wyFor §
corrosion of iron metal ? AT 2 )
(a) Oxygen only (a) *ae Wi
(b} Oxygen and moisture Mm o T
{c) Hydrogen only (¢} Fast FEEAES
(d) Hydrogen and moisture (d) Erga Y T

83. Which of the following is a naturally occurring | 83, Pefefam 4 4 |v-ar gt yeft s wq
hardest substance on the earth 7 ﬁwqﬁmmmmg ?
(a) Graphite (a) DRREE
(b) Wurtzite boron nitride (b) FEATEE ARTH LTS
(e) Iron (c) TET
(d) Diamond &

84. Which one of the following instrument is used | 84, TR 3 3 7§ Fegall ) Rufy wmd % R B
for Jocating submerged objects in the ocean ? LR R TR o — %7
{(8) Audio meter (b) Galvanometer (a) FfEa) drem b e
(¢) Sextant (d) Sonar (c) ¥ LA AR

85. "Ramsar Conventinn® is related to 86. “TWER wlvR” wwafim §
(@ Cﬁmhcham (a) FerETy yitads &
(). Pestitide pollution (b) Freres Wy
(c) Ozone layer depletion {c) AW T W A
(d) Wetland conservation Mﬁqﬁ; WY B

A -18-
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. mgchlﬂt—lmth List— 11 and selct the correct

87,

r—

above events from the codes given below.
@214 ®) 31,24
Wwigs4 - @3L43

answer using the codes given below ;
List - I List - 1]
A Vitamin K 1. Wheat germ oil
B. Vitamin D 2. Lemon
. Vitamin E 3. Cod-liver oil
p. Vitamin C 4. Alfa-alfa
Codes :
A B C D
@) ! 2 3 4
) 3 1 4 2
© 2 3 & 1
) 4 3 1 2

Who among the following founded the “Lathi

Club™ 7

(a) Bhagat Singh

(b) Lala Lajpat Rai

{c) Bal Gangadhar Tilak
(d) Bipin Chandra Pal

“] have no time to think about God because a
lot of work has to be done on this earth” whose

statement is above 7

(a) Swami Vivekanand

(b) Swami Dayanand Saraswati

() Swami Ramakriéhna Paramhans

(d) Swami Ishwarchandra Vidhyasagar

Consider the following events
1. Clive re-arrival in India

2. Treaty of Allahabad

3. Battle of Buxar

4. Warren Hastings became India's Governor.

Belect the correct chronological order of the

88.

#

. ﬁ_lﬁ@—uﬁ@faﬂmmﬁm

89.

GET IT ON
Google Play ‘

3 3w wE FR

= e - 11
gﬁnl- 1. 4 o A
. g

Sy 3 Ak &t 3 forg W 7w A R FWE
sft =8 uw W & wEd FW Rew IEn ¥ I

2-Wﬁ¥iﬁ“165’

3, wEEt H 4G 116 M

4. "R RS W WA & TR WL |

sode T % e @ ¥ FRHTIER

frcifoften g2 & % oft 39 i oA BRI |

e )
3! 2i 1u4 - 3', -.;.'..

(al—_ u( 1.2, 4

(‘:) 1': 2: 3! 4 (d) 2. 1} 4,3
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90. Match the List - I with List - [l and select the | 90. &1 ) geh~ 11 & @ry Fafem Hfo aon 4y |

correct answer from the codes given below : féu 7 2 @ W T H T T
List - 1 List - T1 w I
- -11
A. Treaty of 1. 1754 T -1
Allahabad A, grgrar i #fy 1. 1754
B. Treaty of Aixla 2. 1746 .
C. La Bourdannais 31748 C = 3&;“@ 21 WIE 9 3. 1748
Capture of Madras
D. Dupleix’s 1. 1765 D. 59 %1 weegf 4. 1765
dismissal ]2
Codes : A B C D
A B C D
@ 2 4 1 3 (a) 2 4 1 3
® 4 3 2 A48 2
() 3 1 2 4 {cy 3 § 2 4
d) 1 4 2 3 () 13 4 2 3

91. "Rajm-nama’” is the Persian translation of which | 91. ‘w3’ frm famg e o wielt e & 2

Hindu text ? ' "
{(a) Ramayana (b) Mahabashya @ ' )
(c) Mahabharata (d) Ashtadhyayi Mﬂw (d) reereard

92, Consider the following battles and arrange these Frafatim 375:7 o i am 32 =%
in chronalogical order. Q) Fesragarn Zafem fifi |

1. Battle of Kannauj L& wgg 340

[ Battle of Chanderi <t ®1g |5 L/E_’

TH1. e 71 3% 1968

i1l1. Battle of Talikota
IV. Baitle of Chausa

. dmw

Select the correct answer from the code given 34 ‘l;.yg \5' g‘:\

balow 4= fer ™ 3R § ¥ vl I T @ e |
Codes : ®e:

(ay I IL, IV, I (a) 1,11, IV, 111

() IL TV, 1, 111 LA T IV, L 0

(¢ IV, i1, 1, 111

(©) IV, 11, 1, 111
@ LIV, 11, m

) 1,1V, 11, 111
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g TEJAS -1
the following events chronoloe: al
83 ger and select the correct angwer fmm?}; 43, Frofia Tomell #) 3 SreERIER SEfem
é%ﬁ;ag’reem Wmﬁﬁqgﬁs@mwmaﬁﬁm
1. Ganail® ent ofr '
! Poana Pact 1, rmﬁmgﬁq gwsta ~ 193
3. peclaration of complete National = i
{ndependence 3. oo ofra e 9 1934
4. Civil Disobedience Campaign 4. HlaT A
Codes: w2
w 3.4.1.2 ® 21,43 (a) 3,4, 1.2 (b) 2.1.4,3
@213 d) 4.3 1.2 © 2 134 AD 4.3.1.2
wh the List - L with List 1 and se) o 2 R
g Ma : - U and select the | 94, gHi-1 : -1 % awm gifew Hi T
et answer Using codes given below : : .
List- List - 11 mizmmmgaaﬂmma%ﬁﬁu-n.
A Indian 1. Anand Chariu =)
Aseoriation A TR TR 1 3R I
B. Poona 2. Surendra Nath
Sarvjanik Benerji B, fnudabm a2 g
Sabiha , C. waidd® 3 mRaRR
(. Bombay 3. Mahadev SR p—
Presidency Govind Ranade
Association D. mEa g W 4, ReooEng g
0. Madras Mahajan 4 Phervzshah 2
Sabha Mehta A BC D
Codes : @ 2 3 O
ABCD s
w23 4 1 \_,(Ja‘)/?. 4§31
243 1 @3 2 41
@32 4 1 i’
@342 1 () 3 4 2 1
% Whowas the compiler of the “Imperial Gazetteer™? | 95, “§FfRaet e & deerall R 2 2
{a) Cotin Clark o Awr Hife a6
{t) William Wilson Hunter (b) fafermm fmm &
(¢) Charles Elliott (c) T %
(4) William Digly (d) faferm
% With reference to the establishment of Supreme g6, HaYd A N RO F Ty § Refifgg &3
Court, which of the statement is fare correct ? FR-TATA TR ?
1. Supreme Court at Calcutta was 1. weFEt | T e 6 T 1773 %
catablished by the Regulating Act of 1773, VR T & g R R
z Lﬁ*ﬂm was the first Chief Justice of 2, TR YE AT F T & e & o
S et e g sdn s | AR 2 1w
G‘::;h o ot ﬁa 1 (b) %A= 2
) Lonjy {b) Zonly ;
@Bith1and? (& Neither 1nor? (@3 1 o2 (d AM1akaR2

& 21

=
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A

97.

98,

99.

100.

101.

7

a4

Colour of the tag used on certified seed
bags is

(a) blue
{c) white

(b) purple
(d) golden yellow

Which one of the following is correctly matched ?

(a) Cooperative - M.K. Gandhi
Movement

(b) Etawah Pilot -  Albert Mayer
Project

{c) Grow more — J.L. Nehru

Fond Campaign
(d) Sewagram =
Praject

Vinoba Bhave

Which of the following is NOT correctly matched
under highest crop cultivated area of Uttar

GET IT ON
Google Play

!

97 mm&;aﬁmmﬁ%mﬁmh‘ ﬁ

™R 102
(a) Frew () &
(c) TR (d) gE0 e
os. Feff 3§ & FA-T @ T PRER 7
(a) Gefen SR - .
G R ITEER - S
O BIES
(@ 3 A IR — 3. TE W
ittt
) Y e - AR

(3 Dvian & i TR ¥ Wl e BB

i ad) gafera & & 7

Pradesh ?
& o e W D
rop District 103.

(a) Mustard - Agra vﬁ{ we - LY

(h) Potato - Farrukhabad (b) 3 - REER

(c) Maize —  Varanasi (c) T ~ <SR

(d) Sesame — Hamirpur (@) o= - TR

First intercity electric bus service of the country | 100. ¥ % vgeh R oels W 8 el 20201
under public-private partnership model in qfer- RN aoE WES % FE O O W
February 2020 have been started by the State S

(a) Maharashtra (b) Karnataka m (b) o

(c) Gujarat (d) Tamil Nadu (c) =@ (d) g

With reference to Deposit Insurance and Credit 0l. mmmﬁmmwﬁaﬁm#m
Guarantee Insurance Corporation, which of the # Erafafan w3 @ -/ e a@ b ?
following statements is/are correct ? l-mm“ﬂﬁmtl

1. A subsidiary of Reserve Bank of India. 2 %, 570E 6 I W T e lﬂiq,
2. DepcsituptGRa.ﬁlakhareinsuredbyit. B — o
Select the correct answer using the codes given 9 ﬁ‘q‘ @ wud

below: i l.l O

Codes : = -

~ ¥ 1 T 2
(a) Only 1 () Only 2 @3 ®)
;. ? . - @ tiae @ IM1atade
tc) Both 1and 2 (d) Neither 1 nor 2 A
~22- -
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g]\lsfﬂh List— 1 with List - 1] and select the correct

108 Wﬁ-om the codes given helow,
pist -1 List - 1]
(Bank) (Type)

A Indian Ban 1. Foreign
B. 1C1CT Bank 2. Cooperative
¢. CITI Bank 3. Private
p. Saraswat Bank X 4 pypp
Codes :
A B C D
@l 2 3 1
{by 2 3 1 4
&)/4 2 3 1
@4 31z

113 Given below are two statements, one labelled as
the Assertion (A) and other as Reason (R).

Assertion (A) : Under Operation Twist, RBI
smultaneously sell short term securities and buys
lang term securities.

Reason (R) : The main objective of this operation
i to promote long term invesiment.

Sclect the correct answer from the codes given

below.
Codes ;

{a) Both {A) and (R) are true and (R) is the
correct explanation of (A)

{b) Both (A) and (R) are true and (R) is not the
tirrect explanation of (A)

{©) (A) is true but (R) is false
(@) (A} is false but (R) is true

L Wiich uf?l.he following is a social abjective of

) Emgloyment generation

GET IT ON
Google Play

— TEJAS=1
102, - 1= g 1% Ay gk Hf o AL
fon m 32 3wt 3 @ T R
o -1 LSURRY
(%) (srhn)
A. 3fem 3% 1. Teeh
B. s wd o omd. &= 2 mEwil
C. & ¥ -3, fft
N, MeEa ¥% 4. HEAAE
L T
A B C D (&)
ta) 1 2 3 4
2 3 14
@4 2 3 1
(4 3 1 2.

42 @ s fer 1 2 faemt o 1 wfisas (A) T

T = Frm (R) & fafen frn w2

af¥rem (A) - wivtwm e & sk

Al AE.wH € wm § sermea wieyfad S

Fue Edwrea gfegfaat & gl 2

HO (R) - 30 ST 1 qem 3xvy defaefi fdm

& qgET 2 |

f2 fee ™ Fz | 76 IWF] == A |

& ;

Jaf 2T (A) T4 (R) & R w1 (R), (A) Y W)
T &

(b) 21 (A) T8 (R) & & 79 (R), (A) 6 o
T e R

(c) (A)®F R g (R) sweg @
@) (TR AR Ry e

104. Freaferfen % & wraam = wmiys v @ 7

(a) FF=

103.
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105.  Accarding to 2011 census among the following

states, which one has the lowest level of
urbanisation ?

(a) Andhra Pradesh  (b) Haryana
(¢) Mizoram (d) West Bengal

106. In which of the following state/union territories,
the “Jarawa Tribe" resides ?

{a) Arunachal Pradesh
(b) Lakshadweep

(c) Chhattisgarh

(d) Andaman and Nicobar

107.  Match the List - I with List — II and select the
correct answer from the codes given below.

List -1 List - II
{Mining area) (Mineral)
A. Guru Mahisani 1. Zinc
B. Talchir 2. Uranium
C. Jaduguda 3. Iron-Ore
D. Zawar 4. Coal
Codes :
A B C D
(a) 1 2 3 4
) 2 4 3 1
cy 3 4 2 1
(d) 3 2 1 4

108. Monsoon originates by which of the following
winds in India 7
{(a} South-West winds
(b} South-East winds
(¢) North-East winds
(d) North-West winds

109, 'l‘ropicdfmdoesNOTcmaswhichofthe

following State ?
{a) Tripura () Chhattisgarh
(c) Manipur (d) Mizoram

=

GET IT ON
Google Play

e T
108. 2011ﬁmmﬁ“3? ) b

(a) PR ¥&W ®) ¥ )
(o (d) w¥Em #ma

106, Prifas T/ Wit TS 3 S
HPameR e ?

(a) FEOTTEE W
(b) FEE
(c) BTG

M’éﬂﬁ&h‘{ﬁﬂ%ﬁn
107. R - 19 gt - 0% ara gfers i s

e 12 gz @ ol s+ 9w fifd |
et - 1 &t -1
(= ) @)

A 7= afgarh 1.

B. derei 2. qfam

C. TR 3. dg-3gwF

D. Jmat 4. Haen

L T4
A B C b

(a) 1 2 3 4

®2 4 3 3

I3 4 2

(d) 3 2 1 4

108. wRa # s ) el Aeftes v § R
TR 7

\_o &t gem grg
(b) gftv-qd vam gy
(o) IR-qd vaq gy
(d) In-uffem vaw g

109, ﬁwﬁlhaﬂ%&mm%ﬁ'tmwmt?

(®) ﬁgu () whg
Waika (@ Prove

A -24-
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P iriast="1with List | 7
i} gom the codes given below #nd select anguer

pList -1 List - 1
(Country) (Capital)
A Myanmar 1. Hanoj
B Combodia 2. Vientiape
(. Vietnam 3. Phnom Peny,
Codes :
A B C D
a1 2 3 4
) 2 3 4 1
© 4 3 1 2
id) 3 4 2 1

. Match the List - with List - 1] apg select the

rorrect answer from codes given below.

List -1 List - 11
(River) (City)
A. Shatt-al-Arab 1. Vienna
B. Paraguay 2. Basra
C. Niger 3. Asuncion
D. Danube 4. Niamey
Codes :
A B C D
&) 1 2 3 4
b 2 1 4 3
© 3 4 1 2
d 2 3 4 1

b Newly introduced Prerak Dauur Samman by
Government of India in July 2020 is related to
ich of the following ?
Y) Crime status of city
ricity supply in city
®) Waste management and sanitation status
of city
(8) Vegetation cover in city

4, 8 whieh h State of India, the scheduled caste
I!ﬁ_&h&mhmaﬁwmmn?
0 Reraly (%) Nagaland

iy B (@) Assam

]
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0. wsft - 19 gy _ 11 ffi e
mﬂggﬁm%ﬁaﬁgﬂml
qR -1 He -1
@m uT)
A. vamm 1. 7
B. wmifaa 2. faamfem
C. faaqam 3. Am =%
D.® 4. TR
He
A B ¢ D
(a) 1 2 3 4
(b) 2 3 4 1
AT 4 3 1 2
(d) 3 4 z2 1
111. ~IH g - 11 F |9 Hfe am
g&qnﬂ?ﬁuﬂmm@iﬁ;ﬁﬁm
= -1 g9 -1
&) T
A ¥A-IA-I30E 1. f=n
B. W 2. T
C. AIgR 3. vt
D. 3w 4. famh
e
A B C D
(@) 1 2 3 4
b) 2 1 4 3
© 3 I 2
\}&/2 3 4 1

112. I 2020 ﬁmmmg&hwjﬂ
<= Prfertian 3 & R st R 7

(a) W ooy 6 fufy L)
(b) e & farsreh mafd
() hive v v T Y T TRy

(d) o o ol @

113. 2011 W W ¥ IEER e & R e

T 3 rgfm it B swen g k2
(a) W@

(c) Rrfary

I e
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114,

116.

117.

118.

119,

120.

121.

‘Sar_xkalp Parva’ celebrated by Government of
India during June-July 2020 is related to

(a) Tree plantation

(b) COVID lockdown

(¢} Dedication towards army
{(d) Online education

“Blue Revolution” is related with the following
{a) Food grain production

{b} Qil seed production

{¢) Figh production

(d) Milk production

Which of the following rivers the “Chitrakote”
water fall is located ?

(a) Yamuna River
(b) Mandakini River
{¢) Indravati River
(dy Narmada River

The Kumaun Himalaya is situated between
which of the rivers ?

{a} Indus and Satluj

(b} Kali and Tista

{¢) Satluj and Kali

{d) Tista and Brahmputra

The National Afforestation and Eco
Development Board (NAEB) was set up by
Government of India in the year

{a) 1987 (by 1992

(c) 1985 {(d) 1998

Which one of the following was the theme of
Statistics Day celebrated on 28'" June 2020 ?
{a) Statistics in Trade

(b} COVID - 19

{r) Statistics in Governance

(d) Sustainable Development Goals

Which Bollywood actress received the “Padmashri”
Award in the year 2020 ?

(a) Taapsee Pannu (b} Shraddha Kapoor
{c) Kangna Ranaut (d) Bhumi Pednekar

In January 2020, how many “Padma Vibhushan”

were conferred Posthumously ?
{a) 4 ) 3
{c) 2 (dy 1
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AafiE &
AR FETT B
m)%?
(c) BT 3 Ofy awdm H
(d) 3ees fen &
115 “<heh mfe fo i @ gt
(a) TGRS 39T 8
() foreTem semea &
et T 39 @
(d) g I &
“farate” w1 o Fretfafen 3 3 frr 7R wR 7
(a) TN TR W
(b) TAfFR TR O
(c) Foadt 98 T
(dy Ty & T
s e fraferia 4 R 2 3 i fRm 2 2
(a) Toryg 3R waew
() el i faen

Mﬁfmaﬁﬂﬂ?ﬁ
(@) forem i s

T T T iR R A (NAEB) @
T WA U g T o

(a) 19871 O (b) 19927
(c) 1995 (d) 19987

frefafes § @ 9 @ 29 9 2020 B TR W
gifter$) feam = forgm (efim) oy 7

116.

117,

118.

119.

(a) =N 3 WifcTH
(b) FIfRE — 19 o
(c) TE ¥ wifesh
(d) waa o o
120. Emmiﬂzmﬁ“wﬁmm
?
(a) TR & OR
(c) T R () 4Pt Y
mgozoﬁﬁaﬁwwmmm
wen fr M B 7 ®
(@) 4 A3
y ' d) 1
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L tEsAB-1

122. Whe has been honoured by the International

Olympic Committee with the “Coaches Life
Time Achievement Award 2019" ?

122, maﬂaﬁﬁaﬁﬁmﬁﬁ%mﬁ"m
yﬂaﬁzaﬂzﬁm"ﬁmﬁﬂﬁﬂﬂm ?

{a) Ravi Shastri (a) WA e o ©
(b} Pullela Gopichand (b) eeen AR
(©) Prakash Padukone (c) FEHTH TZHM
(d) Sunil Gavaskar (d) & TEER
123. International Mother Language Day is 123, St sy fea T S ? O
celebrated on () 20 W4 23 by 25 F7af
{n) March 20 (b) January 25
{c) February 21 (d) December 21 (c) 21 wTad H () 21 fewma H

124, “Operation Vanilla™ launched by Indian Navy | 124.
in January 2020, 1e related to which one of the
following ?

Wﬁﬁmmmﬂmzﬂig{aﬁmww
e Frerfiafin 3 A fe e & e § 7

=
(a) Disaster Management \,(d)/m ::n
(by Qil Exploration (b) ﬁa,ﬁ ;
(¢} Anti-Terrorist Operation (¢) HATAHATS fa{j“ﬂ
{d) Coral Reef Conservation (d) &7 furfw wamm

125. Joint Military training exercise "Ajeya Warrior-
2020" was carried out between which of the
following countries 7

125, wgE A= wRnEw m“ﬁ;@ozn"
fffga § A fe 29 & dra w0 g 7

126. With reference to “Ek Bharat Shrestha 126, “T% WA 5 WRA” & gy § fefafea 5 |
Bharat” which of the following statements FI-T/R FEHEAR ?
slare correct ? L
1. Thiscampaign was carried from 10 10 28t 1, 7% ¥B@E 10 W& ¥ 28 wEh 2020 a%
February 2620. T |
2. The objective is to promote the spirit of fafm arfs e
National integration through various 2. o I A
cultural activities. TR TRETE TRl S g A R
Select the correct answer from the codes given
Hoea g $3 fou ™ 32 3 A 7 I W w3 ffaw
Codes : *:
(a) 1 only (b} 2 only (a) ¥ .JBT e 2
(c) both 1 and 2 (d) Neither 1 nor 2 @132 CELBE CEf )
127. I CARPET s coded as TCEAPR, then the code | 127. 3% CARPET ®32 wm # TCEAPR fovan s },
for NATIONAL would be @ NATIONAL @ g s # fvan snden
(a) NLATNOIA {a) NLATNOIA
(b) LANOITAN (b OITAN
{¢} LNAANTO! LNAANTO!L
{d) LNOINTAA (d) LNOINTAA

{a) Indiz and United Kingdom Mm j::

(b} India and Israel Ly i . i

{¢) India and France (c) r 3R H'TI'H

{d) India and United States af America (d) WRE 3 FgE USH e Ry

27
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ﬁ
128. A train is running 3 minutes late and further
it is getting delayed by 3 seconds per minute.

After how many minutes this train will be
delayed one hour 7

(a) 1140 minute (b) 1150 minute
{r) 1160 minute (d) 1800 minute

129. In a certain code language if HE = 41 and
SHE = 49, then THEM will be equal to
(a) 62 (b) 90
(c) 64 (d) 66

130. 1f 3" December 2000 was Sunday, then what was
the day of 3™ January 2001 ?
(a) Tuesday {b) Wednesday
(c) Thursday (d) Friday

131. “Tiream” is related to “Reality” is the same way as
“Falsehood” is related to which of the following ?

(a) Untruth (M Truth

(¢) Fairness (d) Correctness

132, What number would come in place of ?

%X
\;/

{a) 72 (b) 84
(c) 68 ' () 60
183. How many capital letters of English alphabets
have same mirror image ?
(a) 9 (}:) 10
(e) 11 @) 12
134. Whiereis "Leather Technalogy Park” sinuated ?
(8 Agra (b) Kanpur
(&) Unnao {(d) Noida
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198, % T 3 e faene @ @w OO R I oM 9F
TR fire 3 432 faera gt 1 T} | AT
5 28 TR fe Rl & W T 1 g A

# ?
) 1140 fim My 1160 2
(&) 1160 = () 1800 2

129, ﬁ?ﬁ@ﬁ%ﬂﬁzwﬁﬂﬁﬂlﬂzmm
ﬁﬁ}:mmmﬂmmmﬁm
A

) 62 (by 90
{c) 64 (d) 56

130, afe 3 fewise 2000 F TER o1, A1 3 wEd 2001

! #m-u fea w7 )
(a) FETEN ~/(b) qHan
(c) &R (d) IHAR

131. oy S arEe “arafwar § B, 36 v e
= Ty freffaa § @ @ 3 7

{a) AHH \/({)ETEI

(c) Fraveran (d) TEH
132, o o 7 W SH-1 @ el ?

/?\@ w4

348 18 bll
o QY
172 \ 40 U
? 4o
v ]%
(a) 72 G 84 !
(c) 68 (d) 60 -.15;/

133, 30eh e 3 Remt @2 1Rl % gl 3 aim witRes

ol I
(a) 9 \/t{). 10

CRY (d) 12
134, “ore e wh” sl avaflm § 7
\foy 3T ®) SR
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135.

136.

137,

138

138.

140.

When was the State Higher Education Council
established in U.P.?

{a) 1990 (by 1995

{cy 2000 (d) 2005

Which one of the following pairs is NOT correctly
raiched ?

{a) ITVR - Lucknow
() T11PR - Kanpur
) 1VRI - Izatnagar
{d) 1GFRI - Jhans:

Which ane of the follawing pairs is NOT correctly

maiched ?

{a) Hem or lace work ~  Lucknow and
Varanasi

(b) Brass Idol/statue Mathura

{rj Locks - Aligarh

{hh Cane and sticks ~ Varanas

Match the List - T with List — 1 and select the
correct answer from the codes given helow

List - 1 List ~ IM
{Fair/Mela) (District)
A Devi Patan Mela 1. Agra
B. Kampil Fair 2. Balrampur
C. Bateshwar Mela 3. Farrukhahad
D. Dadn Mela 4. Balia
Codes :
A B C D
(a) 1 2 3 4
& 4 2 3
{c) 2 3 1 4
d) 3 4 1 2

Where are Buxa Tribes living in Utiar Pradesh ?
(a) Bijnor (b} Balrampur
(¢} Shrawasti {d) Chitrakoot

Hftw max;y main Agro-climatic zones are in Uttar
9 (b) 8
®5 @ 8
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(a) 3.9 AT ~ =@ PO
(by 3rd.3md LA, ~ R
() e IS, N E U
@) A FwaE. - FE
137, Fefafea g0 & W vl galE Al 2 7
(a) 72 T ~  EEAE TR
(c) ared - e
138, TR - 19 g - 1% v g Hifvre wun 99 Ry
g2 § § ad I T ww i
- TR -1
() (FFR)
A. 8 R e -
B. FE e 2. TR
C. TR e Y
D. geh . aﬁ;l &
o
A B C D
& 1 2 3 4
(b) 4 1 9 3
2 3
410
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{c) e @ f
140, 3w 3 e gor pR-revary G g 7
gais ® 3 :
@ @ 8



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1
https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

	1_Page_01
	1_Page_02
	1_Page_03
	1_Page_04
	1_Page_05
	1_Page_06
	1_Page_07
	1_Page_08
	1_Page_09
	1_Page_10
	1_Page_11
	1_Page_12
	1_Page_13
	1_Page_14
	1_Page_15
	1_Page_16
	1_Page_17
	1_Page_18
	1_Page_19
	1_Page_20
	1_Page_21
	1_Page_22
	1_Page_23
	1_Page_24
	1_Page_25
	1_Page_26
	1_Page_27
	1_Page_28
	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




